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ýc
h

os
ci

la
ćı
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ěń
ı
h
ar

m
on

ic
ky

v

ča
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ž

m
ů
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té

to
ro

vn
ic

e
vy

ža
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ěń
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ı
žá
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lé

m
D

e
b
y
e
o
v
sk

é
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čá
st

ic
e.

T
es

to
va

ćı
čá
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zá

vi
śı
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ý

ja
ko

ok
ol

o
te

xt
ov

ać
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še

ń
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ký

p
ot

en
ci

ál
se

st
áv

á
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ý

p
ev

n
ý
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ěn
ov

á
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eń

ı
sp

ln
ěn
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ač́

ım
e

φ
(0

)
=
φ
w
.

(1
0.

48
)

R
ef

er
en

čń
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řń

ı
st

ru
kt

u
ru

st
ěn
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ěl

al
i
za

n
ed

b
áń
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ži

je
m

e

id
eá
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á

d
rá
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ń
ı
je

št
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eń

ı
p
ře
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áń

ı
se

tr
va

čn
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é
vr

st
vě
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á
ač
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ře

d
p
ov́

ıd
al

r̊u
st

.
F

yz
iá
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vá

m
e

d
2
φ

d
x

2
=
n

0
e

ε 0

[ ex
p

(
eφ k
T

)
−

( 1
−

2e
φ

m
iu

2 0i

) −
1 2
] .

(1
0.

73
)

M
u
śı
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kž

e
ab

yc
h
om

ji
m

oh
li

an
al

yt
ic

ky

vy
ře
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ež
k
T

.
P

ro
to

se
b
u
d
em

e

za
b
ýv
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á

vr
st

va
a

p
ře
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ři

b
li
žn
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é
λ
D

.

Z
ře
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tń

ı
h
od

n
ot

a
φ
(x

)
ex

p
on

en
ci

el
n
ě
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ěn

ov
é
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tń
ı
zp̊

u
so

b
ja

k
u
rč

it
d
ri

ft
ov

ou
ry

ch
lo

st
io

nt̊
u

p
ro
x

=
∞

,
al

e

m
ů
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ži
t́ı

m
(1

0.
53

)

u
0e

=
u

0i
(1

0.
82

)

Je
št
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